AJMAL NATIONAL TALENT SEARCH (ANTS) EXAMINATION - 2012
Class : H.S.
Time : 2 hours / 3T 3 & W51 Full Marks / & %< / (15«94 ¢ (40+40+20)=100

General Studies

1. Where was the first Indian Institute of Management (IIM) established in 1961 ?
1961 570 '® S 2 2VHHTE or GIEes eifeom B 2 2
1961 A (I 7K 2N BfSGAT FABHTE S WASHG HofT 1 27 2
(a) Kolkata (b) Bangaluru (c) Ahmedabad (d) Lucknow
RRa A/ AT SR ICHR

2. Which physicist of Indian origin invented the 'Optical Fibre'?
(I SIRITET AT “SFHpeT IR BBl BefRe 2
SIS YETH (P AWML PG FIEI TR B ?

(@) C.V.Raman (b) Satyendra Nath Bose (c) Homi J. Bhabha (d) Narinder Singh Kapany
fofe. === Teow J1R T 2 (& Ol T 12 =i
ofe == @I e Ol w12 PioAT

3.  Which was the only session of Indian National Congress (INC) presided over by Mahatma Gandhi ?
CITOT SIS LR AR (P Q@ oMo N2l SR eioifoe F[Re 2
OO TSI L R Q@ (Pl TOF N2 S Neoifoe FE 2

() Surat1907 (b) Belgaum 1924 (c) Lahore 1929 (d) Tripuri1939
W 1907 CeTeI 1924 IR 1929 %‘7@ 1939
I 1907 ST 1929 fao[dt 1939

4. The strength of the Rajya Sabha is 245 (233 elected & 12 nominated) members. What is its maximum strength ?
ST TSR T 245 (233 IO FF 12 T AFHNS) BJ[ & 9o 7R P 2
ST S W 245 (233 T FRIP® @aR 12 & IE) | 2377 SCHR® ST FRAF F© 2
(@) 250 (b) 275 (c) 300 (d) 325

5. On account of its numerous temples, which city is also known as the 'Cathedral City of India' ?
GRS (I VoS TN AR AP AN WU 917 et (et 77 2
TGO (@ TIFIC0 TS AVE AP T 32 SR ST T5IK1 8 @11 7 2

(&) Madurai (Tamil Nadu) (b) Haridwar (Uttarakhand)
TR (OIfETTg) [ IR (SIfeTTe) 2@ (Teqrae) / 2@ (Tedo)
(c) Bhubaneswar (Odisha) (d) Varanasi (Uttar Pradesh)
COIRTY (TfRET) / Bers (Sfea) AT (TE AT [ @R (Tee &0
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10.

()

The purity of precious metal Gold is measured in Carat. Which of the following refers to a Gold alloy having 75 percent
of Gold and rest 25 percent of other metals ?

TR ReToF (FEES (S B | O] (PN NETS (MR 75 *OIH I T Y9 25 SO P 7 (KT ?
T RYZOIE (PEE N B | N (P W 75 =OIeH G Sy G107 25 2T AP Fe1 AR ?

(a) 18 carat (b) 20 carat (c) 22 carat (d) 24 carat

Which colour is in the centre of a Rainbow ?
NS Wero AT 16 Y B .....
AN W& A efs 2oT—
(&) Red (b) Yellow (c) Green (d) Violet
el / =1 REEENEGL CTEGT / e (G / ([T

Which of the following is also called 'shadow government' ?

2 1 AT 5P FIF QT 2

B <1 2Af ST SRR FRICE 6T 2

(&) The governor (b) The opposition (c) The cabinet (d) The bureaucracy
STy /TSI T8l ver/ R vt (IR0 STC /ST

According to the Mahabharat, who was the last Commander-in-Chief of the Kaurava army ?

TROTOT N (I TP (<1 G (I SAIMReT 2

WRSIACS (FIIOE 1T G (P R 2

(&) Ashwatthama (b) Dronacharya (c) Karna (d) Shalya
ST catersr o ey

The opposition parties had been demanding JPC to probe the 2G spectrum scam. JPC stands for .............

2G (PETLFIRNT W@ AN KRR #1563 JPC 51979 I 71 [« ez | @8 JPC W 5 2
2G (PETLFRT Ove@d Ty (KR 975 JPC 919ed 7]l $@| @8 JPC Wi {5 2

(@) Joint Parliamentary Commission (b) Joint Parliamentary Committee
&G ATHGST ST G&G ARG SN

(c) Joint Parliamentary Controversy (d) Joint Parties Commission
&G HAIGrOINT TPl 26 by Ffpe
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13.

14.

©)

Which of the following has been raised by the Indian Navy after 26/11 Mumbai terror attack?

26/11 7 =12 FIST PIHo SO CTRIRAA G (P! AMRAN 10 FRCR 2
26/11 @7 IR FCTH 27 SRS (M S (@1 AN 5107 3 2

(a) Sagar Suraksha Bal (b) Sagar Prahari Bal
NI T T/ AN ] <o A6 2R T / Mo A=A <@
(c) Coast Security Guard (d) Coastal Protection Force
oIt fisTet oG / Tsisp T feigiofet oI TIPS ] 0T / BT ] T

Recently PSLV-C16 rocket was launched by Indian Space Research Organisation (ISRO) from Sriharikota. What is
the expansion of the term PSLV?

RIS ARIF oIl 19159 ISRO & PSLV-C16 T Sl Tz | @2 PSLV W1 5 2

RIS SR SIET 2010 ISRO TeEFs! @ PSLV-C16 1 @2 PSLV e 5 2

(a) Power Satellite Launch Vehicle (b) Plane Satellite Light Vehicle

(c) Plane Satellite Launch Vehicle (d) Polar Satellite Launch Vehicle .

What is the code name given to the collective international action under UN authority to protect the Libyan people
against Muammar Gaddafi's forces?

BRI (P9 YT 2RI T AN SOy #11 AT Tpierss a1 frdl A{f2s oWewo o a1
<& =iifeet 2

AR SRR T R STSIBIECS BAREI G Tl (T3 AETROR (99 (T WG 2MCHEE
LfES I |

(a) Operation Ortsac (b) Operation Trident (c) Operation Swift Strike (d) Operation Odyssey Dawn
AT SOIBIE AT TR0 AR pRID BIZP A 8y T
AT SOI6Te AT FT20e6 A AZFE GRS ST SfSHT T

Soft currency means currency Whose ......................

50 BIET A @D ............

56 I A e

(@) Supply is less than its demand in the international market
WPEIEF &S BIRATSCS (o e
IFEIToP G iRl (S CIsie Hfre

(b) Supply is more than its demand in the international market
IFEIToF TeTqe bifRvres =K
IO A HIFRANEE (6 KT

(c) Supply and demand both are less in international market
IFGIoF qeTe ToF (ol Wi bifRal Ao
IEETios et el @2 bifzwl Tomeg Afie

(d) Demand tends to increase in the international market and in India
TN bIfEnl IIEIeT S Sow K TSR]
229 bIfEMl IWEIoF IS Gk OIS G TR
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15. Consider the following statements :
9 Ui (851 W SRl ¢ / Nvd Sfewf oy 9 3
Right to information is necessary in India because it .............
OO GG B LS ML PR .o
IF0S SRS SHBIER ACS SANCR TN R o
i) Increases people's participation in administration
TS e HYER IS T<A] 9 | SIPTET STAILREN S8R 0T |
i) Makes administration more accountable to people
BN Q191 eHPNS S AIGRER 2lfio wIRegdie] S SIS / eRPE SR eife wifedie] w6 #i1: |
iif) Makes administration more innovative
TN QNI S SfH JfEAiier S A1 / e P ik sl $h00 ol |
iv) Makes people aware of administrative decision making

T T 2> PIaied 2/f\s SR TMHoT PR AT /SAILRNEE 2= MR P 2ifs i e 09 A1 |

Of the above statements ............cceeen...

el ...

(@) i, iiandiiiare correct  (b) ii,iiiand iv are correct (c) |, iiiand iv are correct (d) i, iii, and iv are correct
1, 19 il ¥ i, 1l e iv 8= ITRICCRIVAKD ITRICCRIAK
i @R il ¥= i, 1l @R v 8% I, 1l @R iv 8= I, 1l @R iv 8=

16. The drug chloromycetin is used for which disease ?
“FENEHHT SR (@R @15 IR T 2
R S5ufl @ s TR =% 2
(a) Heart attack (b) Dysentery (c) T.B. (d) Typhoid
g aie SI=A ] RGN

17. Rajini Gabra and Harni Gabra Festival are celebrated by
G SN O ZIET AR R (PN SN Ao B 2
G ST G T ST T SCEIBT AT 2
(a) Mishing people (b) Dima hasao people (c) Karbipeople (d) Rabha people
firfbe Sesms &1 2mIe TSt I STl (ST SACID/ATS! STHS!

18. Which of the following positions is the highest in corporate position?
T (RPIG! AT ST TS oI 2

NEA @A IR ARSI T 4% 2

(&) Chief Executive Officer (b) Chief Operating Officer
R PR AL R AAfRBIE SEIfe

(c) Finance Director (d) General Manager
el sifpleT COTCCIET (ST
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22.
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The abbreviation GDP stands for ....................

GDP I 5 2

GDP ¥ ?

(a) Gross Development Process (b) Gross Domestic Products

(c) Gross Domestic Process (d) Gross Development Products.

Name the global leader in terms of production and selling of beauty products.

(I (NG GV TN e IF K@l (Fae e o9 B SR ez 2
G AT Terve @R R CFi@ [0y 24T B IAHPE FE AR T |

(a) Procter & Gamble (b) L'Oreal (c) Unilever (d) Avon
P QS (oICEeT o e BURIREIN Gico|
AT @ (51" QRG] BRI

In order to remove judges of the Supreme Court or High Court through impeachment proceedings a motion is
addressed to the President signed by at least-
Thox 1 T IRETRT VA @S9 Keva TSR 7€l SRR 2@ FEAT 19170 Fee /e o
ST ST FH A 2
THow 1 T TIFEARS AT R RIS AR ST S S5 2R 41 2R AGFoF M0z 2101
S] FHACF PO AWML T AR ?
(@) 100 members of Lok Sabha or 50 members of Rajya Sabha
100 &7 (TIPS 3wy Q1 50 & STl 3wy
100 &7 (TIPS 2T 91 50 & TSPl STy
(b) 50 members of Rajya Sabha or 150 members of Lok Sabha
50 & qrerTel J1E41 150 & (=TIFTOI AT
50 &« qrerTel A1 150 &1 (CTIPITOIS Wiy
(c) 80 members of Lok Sabha or 30 members of Rajya Sabha
80 & (FTIPIOIN =Ty 121 30 T IS F©IF vy
80 & (eTIPIOIS 321y 1 30 & S ATl STy
(d) 60 members of Lok Sabha or 70 members of Rajya Sabha
60 & (TIPSR HAHT J1ZQ1 70 T ISR I
60 & (ETIPAOI SW1) 1 70 & ArerPTol AW

Panchayati Raj is based on the ideology of

SIS [ g @sqe Sifqe 2

SR ST k= fox Sofg wxifae 2

(@) Community cooperation and development (b) Cultivating political awareness in the rural masses.
SNSRIl @<E Saze ST} G519 e Aboel I
ANIEGE AR @ BT ST} GoICTE AN AHeTel I

(c) Democratic decentralisation (d) Preventing higher level corruption
sierelfee Rl / sirorfa Resareae THENT V110 el / S o el
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Which one of the following states has passed a legislation to confiscate the property of corrupt officials and to open
schools in these properties?

TR (P JIGHR G110 2 RFHR SToif8 oS S RUylersy glof S AR ST Ao FIg 2
O (P ACET AT ST SNABIRCP 570i 01 S QI o S S5 SN2 AT FCACR 2
(a) Bihar (b) West Bengal (c) Kerala (d) Rajasthan

oz / faze QIR E el / el ST / ASTE

Which of the following is not a correct statement can't ?

OIS (PG O wa 72 2

Ed (A e wmm 73 2

(&) The Wikipedia is a sea of information contributed by readers all over the world
TP @fb Rey siroes qal Jeeeal w1y e[
TERHGA ey S0 @RI = T4 @F L BISH

(b) Encyclopaedia is a book or a set of books which are both authoritative and definitive.
AT 201 eI SoeRIe] e I8 o<1 7
RCPIT =1 ARG FOAeT <R 18 (FOI%) T el

(c) The Wikipedia can be edited by readers but encyclopaedia not
TR si1owa 7|l Tl FRT 01T g R @ @i
TGN Si1ocra 7 1 i 1 IR g Regeera <=1 W@

(d) Both are definitive and can be edited by readers
TRIGIE I8 W% 139 7« oW SR AN
758 PO @R SO R STl 41 IR

If blue means pink, pink means green, green means yellow, yellow means red and red means white then what is the
colour of turmeric?
T et NI LA, @STAT N CTOGHI, CTGHH W RIS, R F 1 S 61 W 67 (9568 QeI
wfFe
i ST AT ST, COITIAN W T, FLST A ZoTH, o7 A ST @< T T A O [0 o]0 2w
(&) Green (b) Yellow (c) Red (d) Pink

CTEGI / It 2R/ 2o 6] / =TT ST/ CNETAT

There are six persons A, B, C, D, E and F. C is the sister of F. B is the brother of E's husband. D is the father of A and
grandfather of F. There are two fathers, three brothers and a mother in the group. 43. Who is the mother?

6 & & A, B, C, D, E % F, CZ'eT FS SHIE | BR'S E T PISIGFS OI@F | DR AT (OOl S F I SR |
1S 71 N, Fofe S TF @&l A1 | WEF (PITS! ?2

6 & I A, B,C, D, E @3} F, C T3 F @3 (@I | B % E @3 WK ©2 | D 2eT A @9 el @R F @F o153l | Qo
weTe o1, foTe ©fF @) GFer W | A (S 2

@ A (b) B (c) D d) E
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27. The quorum to constitute a meeting of either house of Parliament is
FRA 37 (I ATCS AT T2 o7 et e e 2
FRAWS (T (PG FAC ... AT AL ST HLAT 41 B 2
(@) One-third of the total number of members of that house

AT QP-GOIA Iy | FHETH A-9SIHIH ATy
(b) One-third of the total number of members present

THES T AR AF-POAI | ToAfES o0 I AF- GO
(c) One-tenth of the total number of members of that house

(T8 N TN ST [ (TR I G-I S0
(d) One-tenth of the total number of members present

TS I T @RI [ ToAFES (1B TR Q-

28. Which of the following defines a free-port ?
T (PG & U ?
NS P Y& T 2
(@) Allows duty-free imports
7o YRR ST St e
(T SFS AR SRS (el 27
(b) Does not have any customs checking
'S (I AN 9T -2<TH] 91 -7
CTATE I SN SF-2f 1 51 - 1
(c) Allows free entry of goods from some specified countries
T g F<ifoe omiq o[ SrmEiEe AN Y& SREts e
T forg 16 (s (/e A F© TN [& AQER SN (e ]
(d) Allows free entry of goods which are to be re-exported
TS S I A T AN & s e |
I SIS Gy ST AN & LA NS (S 7 |

29. Which princess stayed with Shahjahan when he passed his last days as a prisoner?
R RIRSIRA SN (R P! STES (I SIF ISP (987 w7570 W[fwet 2
TR *RSTRICE SIS SN 7103 TR SRER AR I 1 ORI et

(a) Jahanara (b) Roshanara (c) Zaibunnisa (d) Mumtaz Mahal

SR / SR (R / TR SrEIfegl YOS A

30. Which of the following type of soils is very hard to cultivate?
T (P AR W @rpaies 3o 16 ST 7= 2
N P @ HG 517 ST Gy QRN AN 7 2
(a) Red (b) Alluvial (c) Black (d) Sandy

eI / =T sfeTwg / AT FANIG /| FIETNG qifersift / [ifersife
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37.

(8)

Which of the following is not a product of vehicular pollution ?
ST (PR T RS ATFOA AT AL 2

O (PR AR A7FT A T 2
(@) Sulphurdioxide (b) Carbon monoxide (c) Hydrogen peroxide (d) Hydrocarbons
BETFR TIZOHIZG B FTSHZS RS ATAHEE  RIRGIIEA

The 2001 Nobel Prize for literature was won by an author of Indian origin. Who is he ?

2001 © MROF & (P SIS TR WS I <6l =110 ST 2
2001 T ARG (& 2RI ... SO YT & 710 TR |

(a) Salman Rushdie (b) VS Naipaul (c) Arundhati Roy (d) Vijay Tendulkar
2T PG fo.qg o YIRS T e (BeeTs
ST i fo. @1 2o TEHS] A e CoggeTe

Name the Italian revolutionary whose leadership led to the unification of Italy ?
@G 2K (Toes SBEN aFf@ P Pl (®fee ?
(P B Ko (T9re BRI Gdf@wae 27?

(a) Giuseppe Garibaldi (b) Benito Mussolini (c) Otto Van Bismarck (d) Oliver Cromwell

Name the painter who was the first to prepare a model of a helicopter?
(I & BRI 20T RIETFDIRT AR oFe e 2
[ETIG =] — A (RITF GBI TN (oA P& |

(a) Pablo Picasso (b) Vincent Van Gogh (c) Leonardo da Vinci (d) Raphael
SR PN TONEIE ©presisl feraarc v fefas ST / QT

Who is the author of the book, 'The Importance of Being Earnest'?

‘'The Importance of Being Earnest' ¥ 96 (I ?

'The Importance of Being Earnest' @3 I6fXwi............ |

(&) Lyman Baum (b) DH Lawrence (c) Oscar Wilde (d) OHenry

Which of the following gases is used to extinguish fire?

T2 TR &9 (PR (ol IR R 2

e FTOIR0o (I oI5 GRRIE F41 ] 2

(&) Nitrogen (b) Carbon dioxide (c) Carbon monoxide (d) Ethane

TIBHST BASCIVERS IR FIT TTHEG 3

Where is the headquarters of the Interpol?
Interpol (ZBIRCATTNT T P F© TLHS 2

SHRATET Y27 P (I S}ES 2
(a) Paris (b) New York (c) London (d) Lyons
corfag / coffeT S | oz S [ T RIES NI Ei|
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38. Which one of the following is not a nuclear state?
T (I TG AR *Ife T8 927 2
N T G IR = g 77 2
(&) United Kingdom (b) France (c) Germany (d) China
R I / GTifw i i [ T SISl e

39. The famous Nataraja Temple where Shiva is worshipped as the Lord of Dance is in
fIg<s Jor Crarernest ofer 41 AT wharer wiwe Fo S 2
R JeoT (RreThest sfer w1 [ATe Toarer Wi (P IE 2

(&) Rameshwaram (b) Suchindram (c) Shankaran Koll (d) Chidambaram
ICPYIN / A b / o XL PR/ WA P fonrsrsy / foursrss
40. Which among the following is not a feature of a developing economy?
TS (0] SHFRI g (ARIE 7=F 2
............................. SRS AE (I8 73|
(&) High rate of population growth (b) High rate of capital formation
<IN I 79 SR A 19T 2
< TR I = S A SO T
(c) High rate of unemployment (d) Widespread poverty
i T 29/ i (@Iees 29 e nfvwel / g vl
General English
41. The boyscaughta .......................... cobra.
(a) six-feet (b) six-foot (c) six-feetlong (d) any of these is correct.
A2, delivered on the subiject.
(&) A series of lectures were (b) Series of lecture were
(c) A series of lecture was (d) A series of lectures was
43. Weare ......coooeeveiiiinineennn. of the same profession.
(@) brothers (b) brother (c) brethren (d) fraternity
44. The accountanttold meto .................eenues on the voucher.
(&) sign (b) put my signature (c) attest (d) autograph

45. The labourers refused to receive their ..........ccoevven.... .

(a) wage (b) wages (c) remuneration (d) salary
46. ..o e e to blame.
(@) I, youand he are (b) You,heandl am (c) You,heandlare (d) I,youandheis
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A7, served .ol country nobly.
(&) Many amen have; their (b) Many a man has; his
(c) Many a man have; his (d) Many a man has; their
48. Heis byfar....................... of his class.
(a) betterthan any boy (b) the best (c) agood (d) as good as any boy
49. Mrs. Indira Gandhiwasthe ........................ politician of her time.
(a) first (b) foremost (c) firstand foremost (d) none of these
50. Thispenis ........c..cooeenn ... than the one | have in my drawer.
(a) worse (b) worst (c) the worse (d) the worst
51. Henolessthan!.................... to blame.
(@ is (b) am (c) are (d) have
52. Pick up the right expression.
(&) I neverremember having met her (b) 1donot remember having met her.
(c) ldo notremember ever having met her. (d) Ineverremember ever having met her.
53. He behavesasifhe ........................ my boss
(@ is (b) was (c) were (d) had been
54. Your grandmother ........................ .. eighty.
(&) shallbe (b) is (c) must be (d) should be
55. Pick out the sentence that is incorrect.
(@) She is used to taking tea. (b) She usedto take tea.
(c) She used notto take tea. (d) She did not use to take tea.
56. Pick out the sentence that is incorrect.
(&) He made noise and disturbed other children (b) He made some noise and disturbed other children
(c) He made noise and disturbed the other children (d) He made a noise and disturbed the other children.
57. Which of the following sentences is wrong ?
(a) People say that heis a liar. (b) People said he is a liar
(c) ltis said that he is a liar. (d) heis said to be a liar.
58. Large quantities of jute ............... from Bangladesh.

(a) toimport (b) is deported

(c)

is exported (d) are exported
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(11)

If I had not been so busy yesterday, | ...................... him.
(&) would visit (b) bhad visited (c) would have visited (d) visited

By the time | arrived at the cinema, there were no tickets left. They .................... .
(a) had been sold (b) were sold (c) have been sold (d) are sold

" Let's go for a swim". If we rewrite the sentence starting with "How about.." , the sentence will be :
(&) How about a swim ? (b) How about going for a swim ?
(c) How about to go for a swimming ? (d) How about letting us go for a swim ?

He said to her, " May you succeed !" In indirect speech this sentence will be :
(&) He wished her success (b) He said to her that she might succeed.
(c) He told her that she might succeed (d) He prayed to God that she may succeed.

He can walk fast. He is tall. If we combine these two sentences, the new sentence will be :
(a) He s tall because he can walk fast. (b) Because he is tall he can walk fast.
(c) Since he can walk fast he is tall. (d) He can walk fast therefore he is tall.

You will not recover fast. Refrain from smoking. If we combine the sentences in the following way which option is
most appropriate ?

i) Unless you refrain from smoking, you can not recover fast.

i)  If you want to recover fast, you should refrain from smoking.

i) Inspite of refraining from smoking you will recover fast.

(&) Only (i) is correct (b) only (i) is correct.

(c) Both (i) and (ii) are correct (d) all are correct

A politician's speech must beread ............. the lines, it may have adouble ............

(a) behind;edge (b) between;meaning (c) among ; ends (d) beyond; face.
The Secretary ............. the society's funds, .................. he was dismissed.

(&) robbed;thus (b) pirated ; therefore (c) embezzled ;therefore (d) misplaced ; and
Though Bonsai, a well -known art form, originated in China, itwas ........... by the Japaneese.

(&) cultivated (b) perfected (c) finished (d) borrowed
Pollution in the streets of Delhi .................... the life of every human being.

(a) exposes (b) hazards (c) imperils (d) endangers

The ..., gotin to the house through the AC vent and took away whatever he could lay his hands on.
(&) Robber (b) Intruder (c) stranger (d) burglar
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My mother upset the kettle of boiling waterand ..................... herright hand badly.

(@) wounded (b) sizzled (c) Scorched (d) scalded
Past civilizations often saw cometsas .................. of death and doom.

(&) harbingers (b) precursors (c) usherers (d) portentous
His residenceisonthe .......................... of Calcutta.

(&) periphery (b) fringe (c) area (d) outskirts

Those who live in trees are .............. :
(a) adhesive (b) fluvial (c) arboreal (d) floral

The adjective for the " sense of touch" is :
(a) tactile (b) olfactory (c) caress (d) sensuous

The speaker made some very cogent remarks. The word opposite in meaning to the underlined word is :
(@) Superfluous (b) arrogant (c) remarkable (d) appropriate

The Prime Minister's radio broadcast galvanized the people's spirit. The word opposite in meaning to the
underlined word is :
(a) distracted (b) motivated (c) frightened (d) dampened

Murarilal is seventy years old and a fanatical gardener. The word nearest in meaning to the underlined word is :
(a) crazy (b) fantastic (c) excessively enthusiastic (d) obsessed

The two opposing parties have reached a stalemate. The word nearest in meaning to the underlined word is :
(a) Dilemma (b) deadlock (c) settlement (d) compromise.

A good teacher should have the gift of the gab . The meaning of the idiom in bold italics is :
(a) atalentfor speaking (b) agood personality (c) aninterestindiscipline  (d)agreatdeal of knowledge.

If you rub him the wrong way, he is bound to react. The meaning of the idiom in bold italics is :
(&) Flatter him (b) annoy him (c) scold him (d) encourage him

Write essays on any two of the following topics in about 300 words each. 10x2=20
(@) Role of NGOs in Social Development.

(b) Relevance of Gandhian Philosophy in India.

(c) Mathematics as " the Mother Science"

(d) Role of Print & Electronic Media in present world affairs.

(e) Tourism Potential in the North East.

(f) Moral Values and Modern Life.

(g) Importance of Career Guidance in the context of present day education and employability.
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